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SECTION I I %
Answer ALL questions. Each question is worth 1 mark. y ;
Show ALL working in the Working Column.
No. TEST ITEMS WORKING e i
COLUMN o i
' ere bl
f : KC|AT |PS 1!
1. | Write 0.75 as a common fraction. _ , 10
Answer ;
2. | Approximate 9413 to the NEAREST hundred. (e
Answer _. 1‘ 21
1iE .
| 3.
8. | Write the following numbers in order of size, [ i‘f
starting with the SMALLEST. Pt

020, 012, 031

f

Answer Rt V1L B

4. 3.0 = 0.5 =
Answer

50 Use ALL the digits below to make the LARGEST
four digit humber between 2000 and 3000.

9 6 2 8

Answer .

GO ON TO THE NEXT PAGE
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6. At a supermarket opening, every fifth customer 3
: is given a prize. If 63 customers enter in the
first hour, how many prizes would be given out? iy
Answer = prizes
' il
7. | Write the number in the box to complete the r||
sentence. . j
111 + 222 + 333 = 222 x : | -
| 8. What number should go in the circle to make ]
f the operation correct? |
| i
| |
|
| ! : ]; |
Add 10 H
| 5 <
v : [ ]
Multiply by 2 i
v
50
|
Answer

" GO ON TO THE NEXT PAGE
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Billy earns $7 per hour. How much money will |

he earn in 6 hours?

Answer $

A bat was gbught for $300.00 and sold for
$350.00. Calculate, in DOLLARS, the profit
made. ' '

Answer $

11

How many 10¢ coins can I get from $6.007

Answer " . 10¢ coins

1Z.

The cuboid below is made up of blocks of volume
1 cm3. What is the volume of the cuboid?

. e

L Ve

- Answer - ¢m?

13.

Jeremy did a Maths test in 75 minutes. How
many hours did he take?

~Answer - hours.

NAPR401T/T&ET SHEA 2006
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No. TEST ITEMS
' ' : COLUMN
14.| The perimeter of an equilateral triangle is
42 cm.
i
- ]
What is the length of ONE side of the triangle?
Answer . cm
5. Below is a diagram of Bob’s vegetable garden.

He constructs a fence around it by placing posts
2 metres apart. How many posts will he use?

'z lloml N

< >
v v v v | N

W
Vv Vv W
4 19m
v OV Vv Vv
vV v W
728\ VA A\

Answer __posts’

GO ON TO THE NEX&:" PAGE
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18.| How many lines of symmetry are there in this
shape? ; TRITEIF T,
Answer Lines )
17.| Order the angles p, g and r according to. size
from the LARGEST to the SMALLEST
5 om
Answer N -
) . i .
Study the position of the shaded triangles in the

18. ;
squares below.

the last square.

N E X 5
Complete the pattern by shad:mb a triangle in

GO ON TO THE NEXT =:
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chosen by a. g'oup of chaldren

Flav.our Number of children

e | VPRY G
Strawberry Q (J{;h Q

Vanitla VY

Ir ‘\7 represents 2 children, how many children
chose vanilla ice cream?

Answer L .___children

' S Do Not
No.. TEST ITEMS WOREING TWrite
COLUMN Here
M , ) KClAT|PS
19.| The pie chart shows the favourite colours of 20
students. How many students selected yellow?
Red :
Yellow
Eiue ]
Green
- Answer _ . . students
20.| The pictograph shows the ice cream ﬂavours

GO ON TO THE NEXT PAQE
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Answer ALL questions. Each question is worth either 2 or 3 marks.
Show ALL working in.the Werking Column.

. : ' | Don

No. TEST ITEMS | WORKING ol
COLUMN Here
KCJAT|PS
21.; Calculate the sum of 1—21— and Ti—
(2 marks) - .

22.| Kwesi has 6.red; 8 green, 7 blue and 3 white
spinners. What FRACTION of his spinners is
red? .

N Answer

(2 marks)

23.! The numbers in the circles below add up to the
same total vertically, horizontally and diagonally.
Fill in the 2 missing numbers. '

®© o |
O ® @ ‘
O 0 o,

24.1 Half the sum of two numbers is 17. One of the

(2 maz‘ks)

.
I" ""i Iﬂ" A e b ey R O R TR S T

! : numbers is 24. What is the other number?
;o
Answer !
(2 marks)
— GO ON TO THE NEXT PACE
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25.| Mrzxs Roberts packs lunch for the pupils in her
class. In every lunch box she puts 2 chocolate
‘biscuits and 3 sandwiches. Altogether she uses
96 sandwiches. How many chocolate biscuits
does she use?
A-;rlswer o 4 =
: (3 marks)
28. 4
Grace’s grasshopper eats 35% of its weight in
food a day. The grasshopper weighs 20.0'g.
(a) -Calculq.te the grasshopper’s daily food
intake. : -
Answer -
(2 marks)
(b) If by midday the grasshopper eats 4 g of
food, what FRACTION of its daily food
intake does it eat?
Answer 3 §
* (1 mark)

GO ON TO THE NEXT PAGE
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Mother used 3.75 kg of flour to make bread and : A o : iy
2.5 kg to make cakes. How much flour is left ‘ : -
from a 10 kg bag of flour? '
Answer N - kg
: (3 marks)
I $7:5\1§ shared among 3 winners. The first place . )
winner gets $5 more than the second place L
“winner. The second place winner gets $5 more ‘ ’
than the third place winner. '
. 15{‘
znd
érd
How much does the first place winner get?
" Answer $ ..
(3 marks)
1
I
| ;

- GO ON TO THE NEXT PAGE
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29.| Below are diagrams of a rectangle, R and-a
square, S. E A Ie
! 12 em 9Cm_ I . N | i. . .;X'_;i:

. R | |8 em

Which shape has the GREATER area? Show . . ' ’ l
how you arrived at your answer :

Answer

(gmarks} ce : ‘

30.! Calculate

. m cm
26 54 i
A
- 6 67

@ marks) | N | ;

Py b R A

Ky

GO ON TO THE NEXT PAGE
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31.| . A store offers 20% discount on 41l items.

Calculate the price a customer will pay for the - H

pants advertised i the diagram below. ]|
Answer $

: (2 marks)

32.] Fill in the 3 bozes below to complete the G

paysheet.

Name Rate of Pay Wages

2 days wages at $45 per day

| John

ays wages at $45 per day

225.00

220.00°

James | 4 days wages at $ |per day

TOTAL

(3 marks)

535.00_ ||

el 0P and e p

RIS R TN RN AT




).| 24 drawing books were boﬁéht at $1.00 each and
sold at 2 for $3.00. What is the PERCENTAGE
profit?

%
(3 marks)

-

Answer

- ]_5 -
| Do Noz
TEST ITEMS WORKING e
: COLUMN e
] LT . KC|AT|PS

- i
. - i
o y U

sl o

4l Gary has in his pocket: -
two $20 notes i
three $10 notes
three $5 notes
1o $89.60 |- '
!
Gary wants to buy the shovel shown above. How
much MORE money does he need?

Answer $ _ -

-(3 marks) -

AN ON TO THR NEXT PAGE
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35.| Below is a rectangle.

Calculate the area of -

(a) the rectangle ‘ : S

. Answer : . - cm?
‘ (1 mark)

() the unshaded Tegion .

" Answer _ cm?
. . (1 mark)
(¢) the shaded region.

Answer _cm?
' (1 mark)

A A A i
R IO IO N N 4
: 4

- g_
%.

On the grid above draw an isosceles triangle ) o
with a base of 4 units. : (2 marks) _ :

L :

GO ONTOTHE NEXT PACE
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37.! In the game of spin, a circular disc divided into
' three equal parts is used. The pomtcz always ¥ o A
starts at 0. L - 1
[ o S ‘ DR L
(a) " Kevin spins the pointer and it makes ONE 2 ' | l~
' complete turn stopping at zero. Through A o » 1
-what angle did the pointer turn? '
Answer ______ _ degrees o
(1 mark)
(b)  Sitaspins the poi_nter.and it does not make
a complete turn stog}g_g in the y.ello.w
Iegion.
The size of the angle turned by the pomter
1s apprommately -
Answer degrees
. {1 mark)
| B
i . i
A ~~B Line of symmetry | i
. a - LY - . RS . ) . - ,' :J..
Complete the shape so that the line AB is the
line of symmetry. (3 marks)
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" g9.

(a) Name the shape of the solid formed by the
tent.

Answer- .

o T mark)

(b) - The tent is opened to form a flat shape.

Complete the diagram to show the net of
the solid.

BT e e e AR Y

Pt tormmey

(2 marks)

B
SR TP [ P A
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406.

-The incomplete fally chart below shows the |

favounte sport of Standard 5 Boys.

Game Tally Freguency

Cricket

Football

NN 1z
Basketball | ] mj 10

If there are 30 boys in Standard 5, complete the
ta]ly and frequency chart above.
o R @ marks}

KC|AT P

GO ON TO THE NEXT PAGE
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SECTION 111 : .

Answer ALL guestions. Tach guestion is woxrth 5 marks.
Show ALL working in the Working Column.

No.| . TESTITEMS WORKING | Dol
: COLUMN Heore
- . KCIAT|PS
41.| A radio statlon spends’ "Q' of its broadcast time | T ~’ |
on musm and ~5- of its time on news. :

(2) What fraction of the total time is spent on S : v if

music and news. together? L "
. i

b

Answer - - r

(1 mark) o

(b) The remaining time is spent on other
features. What percentage of the tune is
spent on other features?

Answer % 1.
(2 marks)

(¢) Andy complained to the station that they
spend more time on other features than
on news. Is he correct? Use calculation to

" support your answer.

e

Answer

~ (2 marks)

A

i
iz
iT
&
=
12
i
=
E
3
3
=
=
3
2

GO ON TO THE NEXT PACZ
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The table below gives the number of calories in | e AT E
ONE serving of food: ehEs) Sal e :
Food Number of Calories per serving ll |
Chicken 200 - : I
" Rice _ 140 - _ = d
Cucumber o =0B=, : ' . '[
- : I
(2) Brian chose a meal made up of the foods
shown below. Calculate the number of 4
-calories in Brian’s meal.
Brian’s Choice
Food Number of Servings
Chicken | 1
Rice . - I
Cucumber 4
Answer __. - e 7-._.‘ o = w8 of l
(2 marks) ' e
: H
(b) Nathan has a meal consisting of 665 calories. :
.Select from the foeds in tablé 1 above to i :
complete the table below to show one possible -
meal that Nathan had. _
Nathan’s Meal
. Food - Number of | Number of | - . 3
Servings Calories | |
k (d"‘\;t‘_\.‘.a_r, )
i
l




eight equal parts.

(a)

()

(o)

(d)

b

What FRACTION of the square is shaded? |

Answer

(‘1 mark)

The shaded area is 9 cm?. What is the area
of the square WXYZ in cm??-

o

Answer cm?
: (1 mmark)

What is the length of ONE side of the
square? :

Answer cIm
(1 mark)

What is the length of the base, PQ, of the
shaded area?

Answer . ___cm
' (2 marks)

Do Noz
No. TEST ITEMS WORKING V;:itzz
COLUMN Here
| KCIAT|PS
43.| The square WXYZ below, has been divided into

U TS IV AP B (IR b o i s i 00 T T B e e o
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An aquarium when it is -11-— full holds 9 litres of
water. ; 7

(a) If 1 litre = 1000 cm?, how many litres of
‘ water will the aquarium hold when full?

e

Answer Htres
(2 mazrks)

(b) What is the height of the aquariuxﬁ ifitis
" 40 em long and 20 cm wide?

Answer Lo N cm
(8 marks)

KC|AT|PS
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(a) . Identify two transformations which move

A onto C.

The transformation that moves A onto B

is

®\

o

The transformation that moves B onto C

is

A maik)

() Draw the NEXT TWO shapes to continue

the pattern.

~£

(c) " What transformation moves one shape to
the next one in the sequence

Answer

DUCF

Amash)

Draw shapes
above this line

(1 mark)

KC
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~ In three cricket innings Chris scores 35 runs,
22 runs and 93 runs respectively.

(a) Chris’ mean score is?.

AnSwer

(2 marks)

(b) How niany runs must he score in his next
innings in order to raise his mean score to
607

Answer

(3 marks)

KC| AT |PS

END OF TEST
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